0001980729108999

(o0 FRAkE 0—elo

2015 4F 3 2 [

2| AABCOSADEOLL, OA=a, OB=1b, OC=¢ £45%. a. b. ok

la|=1|b|=|c|=5 4a+36+5c=20

ZAHETETE. ROMNMIER .

—3
(1) 100+3a b +5c+a =02 DI & %5t ., s s
—_— — —_— —_ — - e =
(2) W @b, brc BEU ¢ -a 2kdE. S 4l 1378 P +berad =0
3) AABCOELE G 2L %, [OG| Offi% kb L. .
3 7 0G| otz S 106+3a-p*E5C R =0

LTAR SR AT -

-

M43 +35+62 =3 &Y. 42 +3F=-53
BT 2R 1T, 16[Q+ 245 B+ 3= 252

dl=17|=12%] &Y. - F=0 @
R 2, 40 +5C0 = -3 o@i?% 2% (1,
162"+ 4022 + 25

clP=q[pr
S erm s —20 @

ez

Q. @Y. [00+3QB+5C- 2= [00+t0-100=0 m&

@M oL, B-p=0 @) ¢.7=-20

7y &

Btz 3B+ 5T = ~43 &) 9+ 3052 425121 = 14 &)

=3 - - ) + 2 — -
B Gzt (a+p+) &) gl s (RI+I1B1%+ 121+ 25 B 2B 0+22.7

1
Q= 9
N

P g

]

]

A

O

i

w

o

p—

1
-'DiUT




